— R HEABRTYNR—IL) =Y

AR RCER

JFL:

BEZvhH—ILu—2

Huyh—TF=

bihIEBD5E= wru.

SU—DFHIEL

E13EBATYyMR—ILY—4 BiIHA $1480
B B 201146 A5E(H) 13.00 |HAKH05H I8 {ZBRY)—204—)LF, AR
X 1% B S R 240C | B E 55% EREE EvF(E) 2ERZ EvFERE) 8
TyFaIviaF—ifl EE * £ IFHEE Bl &/ 2 AR A BEZEINE EH BEN
B4 7Evy— (KA A Bl 2 1 ipER L mosnai AH £ ERELIRK A 1,264 N
s - 5—5 s 5—8
(R—LF—L) 0 Bo# 0 (ESH—F—L)
I5Fyyvmm | O oo 7 LT
KICK OFF
L3y Za—hk = . B || & . B a—h e
No. [ OUTESF wign 5| R 2T A E|E|E|® 2T A Rlat #ris OUTRM: No.
0 EFH B 1|GK|GK| 31|A%E B 0
0 TE & 6|DF|DF| 6[JIIE FKER 0
0 R EF 13| DF|DF| 7|WLHE #t 1 1
11 JIA %= 14| DF|DF | 18|%E AKX 0
859 0 5 —& 22| DF|DF| 27|#&H F— (Cap.) 0
1 1 1R HiEF 4|MF|MF| 2[/hNE EFR 11
80% 1 1 53 XI5 5|MFIMF| 14|#8F &k 2 2
2 2 =8F R 16| MF|MF| 15| 1Lk &KX 1l 2 1 1 8945
1 1 tbE EFE 8|FW|MF| 34|81l & 0 1%
3 3 6 ¥AE 1E{& (Cap.) 10| FWlFW| 17| E F1B 3 1 2
19% 0 INE BE 19| FW|FW| 19| H BX 1 1
ES e} 21{GK| GK| 35(@EHE X
STl —1= 3|DF|DF| b|/h#k =X
Wy B/ 11|DF|MF| 8|5 #Eth 1 1 34
5 0 AR R 18|MF|FW| 9|Fik fn& 0 15
19 0 E1TF 2 T FW]Fw| 13|k Kigt
22 0 EB = 9| Fw
ARE E£— 24| FW
24 - Bi5 BEE BEE 24 - Bi5
63| Z | 10i#2H IER RAR =1L EE) %k B— 44y = | TiLHE B/t RAR=Y
845y = | 13RI BN 57 PR 5t TR 8153 | 6iIIE FKER RAR-Y
8 4 12 Ya—k 11 40 7
7 5 12 GK | 12| 5. 7
5 1 6 CK 6 1. 5
7: 6 13 EIEFK 10| 5 5
1i 0 1 FEFK| 0 0i 0
10 1|@E4) o 0 0
0 0 0 PK 0 0 0
BEEE| BRF—L | No. BaE 237 |BEEE RBEH: ~FUIJL —>TO/RR 1 EEB/SR xGBE Soa—b HATALY
1957 LTEe | 1515k 2K 0—1 | Bk-1: 15 - 17 | AES [ MFGKICENE 17 . 15
7v49F7L-1 BRES
[ A BRR] BT$46:26(1:26) . %$49:11(4:11), RAFTERER 1:49:38
[fE&]

XA THAR) DL, BEFKDSS, BFF—LDATHAFICEEHE . RRLTVET,



